A Temple of Education

NILACHAL EDUCATIONAL TRUST
ODISHA VIDYARATNA AWARD
CLASS - IV

Time : 3 Hrs. Full mark : 120

Instructions to the candidates :

) All questions are compulsory. Candidates should write the answers only in the blank space provided.
) Candidates are advised to attempt either the Odia medium or the English medium questions as per their
choice.
) There will be no negative marking for any wrong answer.
) Do the rough works on the sheet attached at the end of question paper.
ENGLISH
A. Unscramble the letters to get the qualities we admire.
Q1. He likes to share what he has with others. (egneorisyt)
Q2. She is gentle and caring. (snkneids)
Q3. Adog is very faithful. otlla
g is very — (yotllay) o
Q4. She never lies. stnoyh
— (stnoy e
Q5. (uhimlyif >
B. g. (inde
Q6. Heis an.
Q7. M%mgmar is U.P School teacher.
Q8. My father is S.D.O
Q9. Thisis H.S. school.
Q10. Heis honest man.
C. Write opposite words.

Q11. The opposite of “wide” is
Q12. The opposite of “sharp” is
Q13. The opposite of “strong” is

Q14. The opposite of “thick” is
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Q15. The opposite

of “brave” is

Write opposite genders.

Q16. Lion -
Q17. Fox -
Q18. Ram -
Q19. Gander -

Q20. Horse -

Write plural numbers.

Q21. Mouse -
Q22. Child -
Q23. Sheep -
Q24. Ox -
Q25. Story -

Use ‘has’, ‘have’, ‘i

‘am’ and ‘are’. e

Q26. Our house

Q27. You

Qzs. gﬁ
Q29. e postmen

Q30 THe

two b S. —
~ana hty chi -

5 qwte fit.

empty.

Put correct preposition.

Q31. My birthday is 15t December.
Q32. The river flows the sea.
Q33. She sat you and me.

Q34. She is proud

Q35. We waited

her beautiful face.

the train.

Use correct form of verb given in the brackets.

Q36. She

sweetly. (sing)
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Q1.

Q2.

Qs.

Q4.

Q5.

Q6.

Q7.

Q8.

Q9.

Q10.

Q37. | have a mistake. (make)

Q38. The players playing in the field. (be)

Q39. My friend has a story. (write)

Q40. One of my brothers coming today. (be)
SCIENCE

GG QIR QIRRHIR| 6901 A9 60606 ARIRE GFY AQUTIRAN FI121G.
QRITN |

Before taking an accident victim to medical, the primary treatment done is known as

641G IR 2reiq. 6Q 6QIPIRR | @fQ AR QIR Q! |
The burnt area of skin must be dipped inside till the pain subsides.
6% 9Q UFEl 2018, GIF 2R F6 @QAIN B AR Q8 69RAIN, Bla 26 @2l |
The incidents which brings physical as well as emotional lo us are known as
6QRGIG 2Igdem 2566 @QQI 012 | PITRESIRA! Al 2sas| @RQ! |
When train comes, we should not s the until th tra/ruea

Qe e Q@%“ 3 2oy ARFIAFRAING AQUBE

hould Xlsc \eﬁ while working with the electric wire and other electric

equipfnent.
4% Q% 3 |61 GQ\?@&N I
Low raigcauses
Qs G960 2RISIER QOIC 2IEMmin 49 Q% UQWEIQ Slere. @@ |

During rainy time the huge sound that comes from the sky along with lightening is known
as
Ao I8l Ala JALER GQ) QRIRR| UROS |

During time we should not go out of the home to avoid sunstroke.
QU Yl JR QIR gl A6 Lo gl @ 62Q| @@@\I

To avoid lightening we should not stand below while walking on the road.
@ QSR Gadug 266 |

is a manmade disaster.
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Q11.

Q12

Q13.

Q14.

Q15.

Q16.

Q17.

Q1s.

Q19.

Q20.

Q21.

Q22.

Q23.

Q24.

Q25.

601613 @ 29214 66118 QIR 2RIRE 66116 GUeQd ASE ATm BI2IR. @0 |

The abrupt harmful incidents those happen to a lower community is known as
eI & Sadug |

Tsunami is a disaster.
810 6RIRAIEE RUITRE FGRIR 60 @ JIFZITER 6N QIEQ QIRIR |

is the head of Panchayat elected by the people on voting.
J6 Q819060 @68l 6meld IR |

Every Panchayat has a

@4 2RIQQ) ZRIF 6RIR IR I2RER 610% 2 |

The city where more than ten thousand people live is called area.
PERJIRR @ PFTAIRG dQI AQAPFER UG LB Telie 6RIR QY AR |
Minimum number of people live in a municipality area.

Q. . T e USTAIRG e 2I6'R |

is the head of NAC and Municipality.

Q8196 286 fIdIQ YORRIRR| AR U5 QR6R A6 R FLL @82 |

is appointed as the head the block by t
NIl AN IR 0929 @

government.

converts the mjlie to ch e an
2oeIm Si4ey. ceRPe ae WERQ YRY© WIEQ QARG |
The gfains are sto e&afely n house in scientific way.

261 69'S! YUR e I 889?@ 6@ GI0G |

<

number of Indian territories are there in our country India.

B9 QRO U9 |

is the highest mountain peak in Odisha.

2806Q FIE 2l GEa 626 69060 G8Y JRIR AR OIS GRUAN |

In region the soil is fertile enough for cultivation of crops.

2ERER HRITER Zia SR B SNEG6R e S| a9 |

In region it feels very hot in summer and very cold during winter.
dRoQ ARl 068 QoR AR @I |

The substances which are obtained from the nature is called
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Q26.

Q27.

Qz28.

Q29.

Q30.

Qa31.

Q32.

Q8383.

Q34.

Q835.

Qg3e6.

Qa7.

Qs38.

Q39.

Q40.

e 69485Q 8 6100 AIR od QUGN |
The formation of soil upto 1 cm takes years.
BGSIQ 200 0@ R |

is a fresh water lake in Odisha.
SRR 29, Qe 6618] 3 PR NCRER |

The Chilika lake is connected to Puri, Khordha and district of Odisha.
Q PASE AEM RIS 69T PI@ |

We should conserve to stop scarcity of water.
IR 9% 8 RIoe GUIR 29 |

grass is used to make rope and paper.
PHQ P11 QUNDEL R IMA 6 ORI UL FELIG] a8 |

number national highway is connecting Kolkata to Chennai.
Q@ F162129 AR QI AR QF 62IRaN |

The vanomahostav programme increases the awareness of resources.

IO TP IR @R Q! QB! IR QER1L 2AAQR |
The hunting of animals or are punishable crime. —
QR QIR AR FAR @ ) g
>
88 AR

The electric wire is made Up of etal.

\?\qpﬁ“ cagaln f6m |
Chro itemiﬁes a the most in district of Odisha.

CIR1AEl 2RIIREY BGSIR Q6 2D |

CRINIRG $I& Bl

ailabl

Gahir Matha sanctuary present in district of Odisha.
e @@l AITER QRS 2RIR QIR FAR OR LI Q1D |

The coastal region soil is rich in which affects the production of crops.
A a9 8 018 QBN |

soil is fertile and suitable for crops.

Q8190 ACR e @22 |
is the head of Panchayat Samiti (block).
A< 28R6R SigIa 961 @RI JINAEINER & @Iy 263 |
To enhance the literacy rate in local region is duty of Gram Panchayat.
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Q1.

Q2.

Q8.

Q4.

Q5.

Q6.

Q7.

Q8.

Qo.

Q10.

Q11.

Q12

Q13.
Q14.
Q15.
Q16.

MATHEMATICS

100 91@ = Qeg |
100 hundreds = thousands.
Q@G 200 S@2l 6RI6' QRRER G 20 Sl 6215 {6 |

no. of 20 rupees notes can be exchanged against two 200 rupees notes ?
AQISIE 50 ARl (I, AIEE 5 GF2 Q1 96 Q@G 50 @2l 6216 QERER ¢ 10 o@
616 FRAIQQ |

How many 10 rupees notes can be exchanged against fifty 50 p coins, five 5 rupees coins
and two 50 rupees notes ?
G QIR2F QSN Cratil 218 696! AIPFQ SI0R YRR 3 QEQ |

How many four digits numbers are there which have 3 at their hundreds place.
1111 1005 2RJ@ 626@ a6 |

1005 more than 1111 is
34812 6Q 2« 4 Q @16

The place value of 4in 34812is
8271 6@ 8 @ i1l NQ° 4261 6Q 2 Q Y@K 2

The difference between the place value in SZXM the Iace value of 2 in 4261 is
4529 Q JQQOT FeukIa° 2 63@ ARCQT Sl FRISS DR

The différence bet (ﬁ] the
502 \1&;&@% T eretl =
The mi@le‘nu)nb from 502 to 510 is

606 el 61 16 153 6Q%1, 69 &1l 999 Q) @ |

re ecessor of 4529 and the successor of 2663 is

The number which is 153 more than 611, is less than 999.
5 2a QS8 Yo el Ol 8981 e |

8981 is less than the smallest no. of 5 digit numbers.
QA IGIER 652 'R 2 | 28 AISIEQ QU 018y 59 SR @F 28 | 666Q 2Q VISER oR 2R |

Ram has 652 rupees. Hari has 59 rupees less than Ram. Then Hari has rupees.
523 + (112 + 106) =

(623 —198) — 59 =

(562 x 2) — 501 =

Q@ 7421 @ 31 QIQ QUG @QUAN, 666Q QUGIEEIS =
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Q17.

Q18.

Q19.

Q20.

If 7421 is divided by 31, the remainder is
496 @ 25 QIR WIS MEM, WICIPH =

When 496 is divided by 25, the quotient is

120 G OF gl QUISIR AFRIC Bew 2760 kg | 686@ 26 QUITIR BRE = kg

The weight of 120 bags of sugar is 2760 kg. Then weight of 2 bags of sugar =
B

76 ¢ol AR A9RIC 1344 § @166 9@IQ 626@ 24 § ¢io AleY G A0R QeI |

If 1344 sheets are required to make 7 note books, then no of sheets are
required for 24 such note books.
e 2Ide Go G AN |

One rectangle has edges.

Qe6a SUANINAR| TS AINR AFQAER ARIR 6RE! | (QE) el 21  24)
Arrange the followings in ascending order. (Q no. 21 to 24)

Q21.

Q22.

Q23.

Q24.

Q25.

Q26.

Q27.

Qz28.

6421, 6098, 6400, 6817, 6411, 6287

QB3 /Ans.

8007, 7008, 6194, 4219, 7123 \ -
—

Q3% /Ans.

/
4152, 4142, 4692 §4842, %\
@@@@

8614, 8%84‘)83 481, 831 1
QB Ans.
B 661N ARAR CRY 350 SR I6° ¢] 6010 1R1R 66115~ 100 &I, 66115~ 200 G'@&2 6016 60@,

6G6@ 2R 660 S 69al IR AGQ ?

If a pen costs X 350. | gave the shopkeeper one hundred rupees note and one two
hundred rupees notes then how much more | have to pay ?
3004 + 4681 - 1001 =

8005 - 1002 + 6184 =

8117 -20—-16 + 501 =
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Q29. 3547 + 6123 + 1124 =
Q30. 1214 + 1005 + 3011 =
Q31. 0,5, 1, 6 @ QIQ2IQ @ QIR 2R AN QEAA SIS 60626Q AR AIPFQ JPRQAY

6210 9@ |

is the four digit largest number that can be formed using the digits 0, 5, 1, 6 in
which digits will not be repeated?
Q32. @ QIBYIER 1512 G Q @laP@l, 1000 6 GI8IQ QU SRl | 666Q QAL G 4 e*

GI3IR QPSR |

In a cyclone 1512 houses were completely damaged. 1000 towers fell down. Then the
total no. of houses and towers those were damaged in the cyclone is
Q33. 9@ GlIFIER 86 @&l IS 28R I6° (AR AllpG el YRS AIPR OI8) 14 @6 218 | 666Q AR

@6l BRI 28D |

In a village 86 male and the no. of females is 14 less than male. Then the total no. of
people in the village is
Q34. 5629 \I6° 92IQ BRG IR 6RER FRIAR! el ANG =

The sum of 5629 and the no. obtained by reversing the digits is=™" .
Q35. 2019 GI’ Q1A 6281 SR 9&° A1’ 81126 969 @ @éiQl ml)a.@' 621a 01 Gle) 60 G

Erad 6aml 1 666Q @ Q Yy =

Hari w o buy T . His a%eghav him Rs. 6281, his mother gave him Rs. 8112. Then
he ga e the whole a tt the shopkeeper and shopkeeper returned him Rs. 60. The
cost of the w _ rupees.

Q36. I@ @Iﬂ&) 625 @4l Emla@ 6}}3@ | 224 o QIIE1I6Q 56 @&l @ Emia Q@@ | 6C6Q 441@@ Q1R

AFRI<) R 6QIR QIR |

In a village 625 people stay. In another village 56 less people stay. What is the total no. of
people in both villages?
Q37. QIRLIN Q° 2eR | @ Qe rNIQ AE =

What is the sum of days of January and October?
Q38. (120x5)-16 =

Q39. 5+(101x7) =
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Q40. (8+15)x101 =




